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1. (d)

2. (a)

3. Person A’s demand is rewritten as P = M /(2QA ).  So if M=1, then P = 1/(2QA).  If M=2, then P = 1/QA.  These demand curves are downward sloping but are not straight lines.  By plotting each curve’s quantity at some prices, you will be able to see that the second one is to the right of the first one.  Since this does not involve a change in the price of good itself, there is no movement along the demand curve.  However, the demand curve shifts rightward as income increases.  (It can be shown that as long as price is positive the demand for good x goes up as income increases.)  Therefore we conclude that good x is a normal good.

4. The notation “m <= n” should be read as “m is less than or equal to n.” (a) Each person’s demand is rewritten as P = -QA + 3, P = -(1/3)QB + 2, and P = -(4/5)QC + 4.

(b) From the above function forms, we find that no one demands for good x if P > 4, person C demands for good x if 3 < P <= 4, persons A and C demand for good x if 2 < P <= 3, and persons A, B, and C demand for good x if 0 <= P <= 2.

(c) If 3 < P <= 4, the market demand is QM = QC = -(5/4)P + 5.  If 2 < P <= 3, the market demand is QM = QC +QA = [-(5/4)P + 5] + [-P + 3] = -(9/4)P +8.  If 0 <= P <= 2, the market demand is QM = QC +QA +QB = [-(5/4)P + 5] + [-P + 3] + [-3P + 6] = -(21/4)P +14.  What’s going on here is basically the same as what we saw graphically in lecture.  Convince yourself by drawing pictures.

5. (a) Equate the two equations: -P + 100 = 2P - 20.  Solve this to get P = 40.  Substitute this into the market demand or market supply to get Q = 60.

(b) By setting a price floor which is greater than 40, the government can eliminate the demand for this good.  Note that if the government set a price floor F then there is an excess supply (2F - 20) – (-F + 100) = 3F – 120.  Alternatively, the government could place a tax on the producers of this good (see next week’s problems).

(c) The change means that the supply curve has shifted leftward.  This happens if, say, the price of oil (an input) increases.  The new equilibrium is P = 50 and Q = 50.  The change in the supply curve causes the equilibrium price to increase while the equilibrium quantity decreases.

